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Passage:
 Read the passage given below and answer following questions:

  
 
 
In the Roman times, defected enemies were generally put to death as criminals for having offended the emperor of Rome.In
the middle ages, however, the practice of ransoming of returning prisoners in exchange for money became common.Though
some saw this custom as a step towards a most humane society, the primary reasons behind it were economic rather than
humanitarian.

  
 
 
In those times, rulers had only a limited ability to raise taxes.They could neither force their subject to fight nor pay them to do
so.The promise of material compensation in the form of goods and ransom was therefore the only way of inducing combatants
to participate in a war. In the middle ages, the predominant incentive for the individual soldiers was the expectation of
spoils.Although collecting ransom clearly brought financial gain, keeping a prisoner and arranging for his exchange had its
cost. Consequently, procedures were devised to reduce transaction costs.

  
 
One such device was a rule asserting that the prisoner had to assess his own value. This compelled the prisoner to establish a
value without too much distortion; indicating too low a value would increase, the captive's chances of being killed, while
indicating too high a value would either ruin him financially or create a prohibitively expensive ransom that would also result in
death.
 

Itemcode : BO1043
Q1 : It can be inferred from the passage that a medieval soldier

(a)  was less likely to kill captured members of opposing armies than was a soldier of the Roman Empire.
 (b)  was similar to a 20th Century terrorist in that he operated on a basically independent level and was motivated solely by

economic incentives.
 (c)  had few economic options and chose to fight because it was the only way to earn an adequate living.

 (d)  was motivated to spare prisoners' lives by humanitarian rather than economic ideals.
 Key: A

  

Itemcode : BO1044
Q2 : Which of the following best describes the change in Policy from executing prisoners in Roman times to ransoming

prisoners in the Middle Ages?

(a)  The emperors of Rome demanded more respect than did medieval Rulers and thus Roman subjects went to greater
lengths to defend their nation.

 (b)  It was a reflection of the lesser degree of direct control medieval Ruler had over subjects.
 (c)  It became a show of strength and honour warrior of the Middle Ages to be able to capture and return their enemies.

 (d)  Medieval soldiers were not as humanitarian as their ransoming practices might have indicated.
 Key: B

  

Itemcode : BO1045
Q3 : The primary purpose of the passage is to

(a)  Discuss the economic basis of the Medieval practice of exchanging prisoners for ransom.
 (b)  Examine the history of the treatment of Prisoner of War.

 (c)  Emphasize the importance of a warrior's code of honour during the Middle Ages.
 (d)  Explore a way of reducing the cost of ransom.

 Key: A
  

Itemcode : BO1046
Q4 : The author uses the phrase "without too much distortion" in order to

(a)  Indicate that prisoners would fairly assess their worth.
 (b)  Emphasize the important role Medieval prisoners played in determining whether they should be ransomed.

 (c)  Explain how prisoners often paid more than an appropriate ransom in order to increase their chance for survival.
 (d)  Suggest that Captors and Captives often had understanding relationships.

 Key: A
  

Itemcode : BO1047
Q5 : Bring out the meaning of the word 'spoils' as used in the passage.

(a)  Unfit for eating.
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(b)  Excessive kindness.
 (c)  Booty or loot captured in a fight or war.

 (d)  Prizes won.
 Key: C

 

Passage:
 Read the passage given below and answer following questions:

  
 
 
The factor of geographical distribution is equally possibly even more, significant that English is spoken as first or native
language in at least four continents of the world, Russian in two, Chinese and the Indian languages in one. English is without
question the closest approach to a world language today.It goes without saying that no two persons ever have an identical
command of their common language. Certainly, they have not precisely the same vocabulary. There are at least minor
differences in pronunciation, indeed the same individual will not pronounce his vowels and consonants in absolutely identical
fashion everytime he utters them. Everyone possesses, in addition, certain individual traits of grammatical form and
syntactical order, constituting that peculiar and personal quality of language which we term as style. All of this is implicit in the
well-known phrase, 'Style is the man.' No men are identical, no two styles are the same. If this be true of but two persons, the
potential of differences resident in a language spoken by more than 200 million truly staggers imagination.
 

Itemcode : BO1048
Q6 : The author argues that English is the closest approach to a World language because

(a)  There are more native speakers of English than of any other language
 (b)  English has less number of mutually un-intelligible dialects

 (c)  The geographical distribution of English covers a much greater area
 (d)  Other languages are much too complex to be World languages

 Key: A
  

Itemcode : BO1049
Q7 : The fact that the same individual will not pronounce his vowels and consonants identically everytime shows that

(a)  Literary style varies from person to person
 (b)  Mutual intelligibility is a myth

 (c)  Vocabulary varies from individual to individual
 (d)  No two persons speak the same language exactly the same way

 Key: D
  

Itemcode : BO1050
Q8 : It is evident from the passage that style is

(a)  A strange type of language
 (b)  A language where one does not have to be particular about correctness and grammar

 (c)  Language used in a particular way by an individual
 (d)  A question of grammatical and syntactic correctness

 Key: C
  

Itemcode : BO1051
Q9 : According to some authorities

(a)  More people speak Chinese dialect than English
 (b)  More people speak English as an auxiliary language than as a first language

 (c)  More people speak English in the UK than in England
 (d)  About one-fourth of the World's population speaks English

 Key: D
  

Itemcode : BO1052
Q10
:

The overall implication of the passage is that

(a)  To suppose that 230 million people speak English as a native language would certainly be an underestimate
 (b)  The 55 million inhabitants of the British Isles speak like the 30 million inhabitants of the dominions and colonies

 (c)  A little less than half the native English speakers in the World live in the US
 (d)  About one-tenth of the total English speaking World population lives in British dominions and colonies.

 Key: A
 

Itemcode : BO1001
Q11
: In 2005, the cost of p kilos of potatoes was d dollars. In 2015, the cost of 2p kilos of potatoes was  dollars. By what

percent did the price of potatoes decrease from 2005 to 2015?

(a)  25%
 (b)  50%
 (c)  75%
 (d)  100%

 Key: C
 

Itemcode : BO1002
Q12
:

It is now June, you plan to visit Australia in 400 months from now. Which month you will be in Australia?

(a)  January
 (b)  April
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(c)  June
 (d)  October

 Key: D
 

Itemcode : BO1003
Q13
:

If the lengths of two of the sides of a triangle are 9 and 10, which of the following could be the length of the third side?
 I. 1

 II. 11
 III. 21

(a)  None
 (b)  I only
 (c)  II only
 (d)  I and II only

 Key: C
 

Itemcode : BO1004
Q14
:

On what dates of April, 2001 did Wednesday fall?

(a)  1st, 8th, 15th, 22nd, 29th
 (b)  2nd, 9th, 16th, 23rd, 30th
 (c)  3rd, 10th, 17th, 24th

 (d)  4th, 11th, 18th, 25th
 Key: D

 

Itemcode : BO1005
Q15
:

A bag contains 3 red, 4 white, and 5 blue marbles. James begins moving marbles from the bag at random, one at a
time. What is the least number of marbles he must remove to be sure that he has at least one of each colour?

(a)  12
 (b)  10
 (c)  8

 (d)  6
 Key: B
 

Itemcode : BO1006
Q16
:

A train 125 m long passes a man, running at 5 km/hr in the same direction in which the train is going, in 10 seconds.
The speed of the train is:

(a)  45 km/hr
 (b)  50 km/hr
 (c)  54 km/hr
 (d)  55 km/hr
 Key: B

 

Itemcode : BO1010
Q17
:

Mr. Thomas invested an amount of Rs. 13,900 divided in two different schemes A and B at the simple interest rate of
14% p.a. and 11% p.a. respectively. If the total amount of simple interest earned in 2 years be Rs. 3508, what was the
amount invested in Scheme B?

(a)  Rs. 6400
 (b)  Rs. 6500
 (c)  Rs. 7200
 (d)  Rs. 7500
 Key: A

 

Itemcode : BO1011
Q18
:

Find the wrong number in the following :
  

396,462,572,427,671,264

(a)  396
 (b)  427
 (c)  671
 (d)  264
 Key: B

 

Itemcode : BO1012
Q19
:

Secretly is to openly as silently is to

(a)  scarcely
 (b)  impolitely

 (c)  noisily
 (d)  quietly
 Key: C

 

Itemcode : BO1013
Q20
:

There is a lot of interest in the first five ranks for Class XI students. One student guessed the rank order as Ankita,
Bhagyashree, Chanchal, Devroopa and Esha. Later upon announcement of the result, it was found that not only did he
get each student out off her true position, none of the students in his ranking correctly followed her immediate
predecessor. Another student guessed Devroopa, Ankita, Esha, Chanchal and Bhagyashree. Even his guess was wrong.
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It was found that he had got two positions correct, and two students in his ranking correctly followed their immediate
predecessors. Which of the following is true about the correct rank order?

(a)  Ankita got the third position
 (b)  Bhagyashree got the fourth position

 (c)  Chanchal got the second position
 (d)  Devroop stood first

 Key: A
 

Itemcode : BO1014
Q21
:

Over the last years, Bank of Bharat has seen the number of its retail customer accounts drop by over 40 percent. Over
the same period, the share price of Bank of Bharat has increased by more than 80 percent. This amazed a few
investors, who believe that a bank's share price should drop if its number of customers drops. 

  
 
Which of the following, if true over the last years, best accounts for the observed movement in the price of Bank of
Bharat's equity shares?

(a)  Two years ago Securities and Exchange Board started an investigation on the bank for accounting irregularities, but last
year the company was cleared of all charges.

 (b)  The bank recently implemented a highly publicized program for free home loans.
 (c)  The bank has been switching its customer base from retail customers to commercial customers, which now accounts for

over 75 percent of the bank's revenues.
 (d)  There have been many new banks, which have entered retail banking business over the last five years

 Key: C
 

Itemcode : BO1015
Q22
:

Ravi walks to the market and comes back in an auto. It takes him 90 minutes to make the round trip. If he takes an
auto both ways it takes him 30 minutes. On Sunday, he decides to walk both ways. How long would it take him?

(a)  100 minutes
 (b)  120 minutes
 (c)  140 minutes
 (d)  150 minutes
 Key: D

 

Itemcode : BO1016
Q23
:

The taxis plying in Wasseypur have the following fare structure: Rs 20 for the first two kilometers, Rs 5 for every km in
excess of 2 km and up to 10 km, and Rs 8 for every km in excess of 10 km. Bullock carts on the other hand charge Rs
2 per km. Sardar Khan takes a taxi from the Wasseypur railways station to his home. On the way, at a distance of 14
km from the railway station, he meets Faizal Khan, and gets down from the taxi to talk to him. Later he takes a bullock
cart to reach his home. He spends a total of Rs 102 to reach his home from the railway station. How far is his home
from the railway station?

(a)  17
 (b)  18
 (c)  19
 (d)  20
 Key: C
 

Itemcode : BO1017
Q24
:

Sara has just joined Facebook. She has 5 friends.Each of her five friends has twenty five friends. It is found that at least
two of Sara's friends are connected with each other. On her birthday, Sara decides to invite her friends and the friends
of her friends. How many people did she invite for her birthday party?

(a)  
 (b)  

 (c)  
 

(d)  
 

Key: B
 

Itemcode : BO1018
Q25
:

How many whole numbers between 100 and 800 contain the digit 2?

(a)  200
 (b)  214
 (c)  220
 (d)  240
 Key: B

 

Itemcode : BO1022
Q26
:

Running at the same constant rate, 6 identical machines can produce a total of 270 bottles per minute. At this rate,
how many bottles could 10 such machines produce in 4 minutes?

(a)  648
 (b)  1800
 (c)  2700
 (d)  10800

 Key: B
 

Itemcode : BO1023
Q27 If Rs. 10 be allowed as true discount on a bill of Rs. 110 due at the end of a certain time, then the discount allowed on
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: the same sum due at the end of double the time is:

(a)  Rs. 20
 (b)  Rs. 21.81

 (c)  Rs. 22
 (d)  Rs. 18.33

 Key: D
 

Itemcode : BO1024
Q28
:

FAG, GAF, HAI, IAH, ____

(a)  JAK
 (b)  HAL
 (c)  HAK
 (d)  JAI

 Key: A
 

Itemcode : BO1026
Q29
:

Here are some words translated from an artificial language.
 hapllesh means cloudburst

 srenchoch means pinball
 resbosrench means ninepin

 Which word could mean "cloud nine"?

(a)  leshsrench
 (b)  ochhapl

 (c)  haploch
 (d)  haplresbo

 Key: D
 

Passage:
 Answer the questions on the basis of information given below.

  
Four friends - John, Mike, Lewis, and Peter - went on a picnic and they participated in four adventure sports - Paragliding,
Skiing, Bungee Jumping and Rock Climbing. Further the following information is known about them:

  
 
 
 
I. The number of persons who participated in Skiing is one more than that of those who participated in Bungee Jumping,
which, in turn, is the same as that of those who participated in Paragliding, which, in turn, is twice that of those who
participated in Rock Climbing.

  
II. Every person participated in at least one event and each sport was taken up by at least one person.

  
III. John participated in Skiing but not in Rock Climbing while Lewis participated in Bungee Jumping but not in Paragliding.

  
IV. None of them participated in both Bungee Jumping and Rock Climbing.

  
V. Peter participated in three sports.

  
VI. Between Skiing and Paragliding, Mike participated in exactly one sport.

  

Itemcode : BO1007
Q30
:

If Lewis participated in two sports, which of the following is definitely false?

(a)  Mike did not participate in Skiing
 (b)  John participated in Paragliding

 (c)  Lewis participated in Skiing
 (d)  Mike participated in Paragliding

 Key: D
  

Itemcode : BO1008
Q31
:

If John participated in Paragliding, which of the following statements is definitely true?

(a)  Mike participated in Rock Climbing
 (b)  John participated in Bungee Jumping

 (c)  Lewis did not participate in Skiing
 (d)  Peter did not participate in Rock Climbing

 Key: C
  

Itemcode : BO1009
Q32
:

Which of the following is not a possible combination of number of sports taken up by John, Mike, and Lewis?

(a)  John - 2; Mike - 2; Lewis - 2
 (b)  John - 3; Mike - 1; Lewis - 1
 (c)  John - 1; Mike - 3; Lewis - 1
 (d)  John - 2; Mike - 2; Lewis - 1
 Key: C

 

Passage:
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Read the following passage and the additional information that is given below. Select the best choice from the options given
for each question.

  
 
 
 
In a shop, five articles - P, Q, R, S and T - are to be sold. The cost price and the selling price of each of the five articles are
among Rs. 650, Rs. 700, Rs. 750, Rs. 850 and Rs. 900. The cost price of each of the articles is different and also the selling
price of each of the articles is different. For any article, the selling price is not equal to its cost price. 

  
(I) The cost price of article R is equal to the selling price of article T. While selling R as well as T the shopkeeper incurred a
loss. 

  
(II) The cost price of Q is more than that of S and the shopkeeper obtained a profit by selling Q. 

  
(III) The profit made by selling any article is more than Rs. 350. The profit made on any two articles is not the same. The loss
incurred on any two articles is not the same.

  
(IV) On only two articles, the shopkeeper made a profit. The profit/loss made on any article is not Rs. 150.

  

Itemcode : BO1019
Q33
:

What is the selling price (in Rs.) of article P?

(a)  700
 (b)  750
 (c)  850
 (d)  900
 Key: B

  

Itemcode : BO1020
Q34
:

What is the difference (in Rs.) between the cost price and the selling price of article 8?

(a)  50
 (b)  250
 (c)  200
 (d)  100
 Key: B

  

Itemcode : BO1021
Q35
:

Which article's selling price is Rs. 3700?

(a)  Q
 (b)  R
 (c)  S
 (d)  T
 Key: D
 

Itemcode : BO1025
Q36
:

According to Stockholm International Peace Research Institute (SIPRI), what is the position of India in the world's
military spender in 2018?

(a)  1
 (b)  2
 (c)  3
 (d)  4
 Key: D
 

Itemcode : BO1029
Q37
:

Name of the Moon mission 2024 which was unveiled by National Aeronautics and Space Administration.

(a)  Kosmos
 (b)  Artemis
 (c)  Surveyor
 (d)  Explorer
 Key: B

 

Itemcode : BO1031
Q38
:

__________ is the youngest Member of Parliament elected in general election 2019.

(a)  Tejasvini Surya
 (b)  ChandraniMurmu

 (c)  Mimi D. Chakraborty
 (d)  Nusrat A. Jahan

 Key: B
 

Itemcode : BO1035
Q39
:

What are GDRs?

(a)  Gold Deposit Receipts
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(b)  Global Debt Rates
 (c)  Global Deposit Receipts

 (d)  None of the above
 Key: C

 

Itemcode : BO1036
Q40
:

Amjad Ali Khan is associated with which of the following musical instruments?

(a)  Sarod
 (b)  Veena
 (c)  Violin

 (d)  Sitar
 Key: A

 

Itemcode : BO1037
Q41
:

Garampani sanctuary is located at

(a)  Junagarh, Gujarat
 (b)  Diphu, Assam

 (c)  Kohima, Nagaland
 (d)  Gangtok, Sikkim

 Key: B
 

Itemcode : BO1038
Q42
:

Golf player Vijay Singh belongs to which country?

(a)  USA
 (b)  Fiji

 (c)  India
 (d)  UK

 Key: B
 

Itemcode : BO1039
Q43
:

The Paithan (Jayakwadi) Hydro-electric project, completed with the help of Japan, is on the river

(a)  Ganga
 (b)  Cauvery

 (c)  Narmada
 (d)  Godavari
 Key: D

 

Itemcode : BO1040
Q44
:

The only private sector refinery set up by Reliance Petroleum Ltd. is located at

(a)  Sundaram
 (b)  Jamnagar
 (c)  Rajnagar

 (d)  Pratap Nagar
 Key: B

 

Itemcode : BO1042
Q45
:

The 462nd Kandoori festival 2019 has celebrated in which of the following states?

(a)  Andhra Pradesh
 (b)  Kerala

 (c)  Karnataka
 (d)  Tamil Nadu
 Key: D

 

Itemcode : BO1053
Q46
:

On 15 August 1954 the National Congress Goa launched its first Satyagraha under the leadership of the following three
leaders. Identify the correct match of three leaders.

(a)  Mark Fernandes, Alfred Afonso, and Anthony Fernandes
 (b)  Mark Fernandes, Alfred Afonso, and Anthony D'Souza

 (c)  Alfred Afonso, Mark Fernandes, and Mark Rodrigues
 (d)  Mark Fernandes, Alfred Gonsalves, and Anthony D'Souza

 Key: B
 

Itemcode : BO1054
Q47
:

Gomantakiya Tarun Sangha was set up in Margao under the leadership of _________.

(a)  Shayamrao Sunder
 (b)  Shyamrao Madkaiker

 (c)  P. P. Shirodkar
 (d)  Vatsala Kirtani
 Key: B
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Itemcode : BO1055
Q48
:

In 1787 the following famous revolt took place against the Portuguese Rule in Goa __________.

(a)  Cuncolim Revolt
 (b)  Rane Revolt

 (c)  Pinto Revolt
 (d)  Bicholim Revolt

 Key: C
 

Itemcode : BO1056
Q49
:

Economic Development Corporation of Goa, Daman and Diu Limited, was established in the year ________.

(a)  1975
 (b)  1976
 (c)  1974
 (d)  1973
 Key: A

 

Itemcode : BO1057
Q50
:

"The German Submarine maker was blacklisted after allegations that commissions worth Rs. 420 Crore had been paid
in the 1987 deal in India." This scam is known as ________.

(a)  HWD Scam (1987)
 (b)  HAD Scam (1987)
 (c)  HAS Scam (1987)
 (d)  HOD Scam (1987)
 Key: A

 

Itemcode : BO1058
Q51
:

The Prevention of Corruption Act 1947 had been re-enacted with consolidated provisions in the year _________.

(a)  1987
 (b)  1988
 (c)  1989
 (d)  1986
 Key: B

 

Itemcode : BO1059
Q52
:

The environmental NGO "Nirmal Vishwa" was founded in the year 1983 by __________.

(a)  Sadanand D Sadhale
 (b)  Arvind D Sadhale

 (c)  Narayan D Sadhale
 (d)  Kamlakar D Sadhale
 Key: D

 

Itemcode : BO1060
Q53
:

Who opined that to know about Gandhi's views on environment one must read Gandhi's writings after Hind Swaraj?

(a)  Madhav Gadgil
 (b)  Ramachandra Guha

 (c)  Verier Elwin
 (d)  Ramakrishna Guha

 Key: B
 

Itemcode : BO1061
Q54
:

Who coined the term Deep Ecology?

(a)  Leopold
 (b)  Aldous Huxley

 (c)  Arne Naess
 (d)  Santayana
 Key: C

 

Itemcode : BO1062
Q55
:

Who categorises environmental movements in India into Crusading Gandhian, Appropriate Technology, and Ecological
Marxists?

(a)  Madhav Gadgil
 (b)  Vandana Shiva
 (c)  Sunderlal Bahuguna

 (d)  Ramachandra Guha
 Key: D

 

Itemcode : BO1063
Q56
:

Which environmental ideology is closely associated with People's Science Movements?
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(a)  Deep Ecologists
 (b)  Crusading Gandhians

 (c)  Ecological Marxists
 (d)  Environmental Idealists

 Key: C
 

Itemcode : BO1064
Q57
:

The following writer has been described as the first Liberal Feminist writer _________.

(a)  Kate Millett
 (b)  Mary Wollstonecraft

 (c)  Mary Douglas
 (d)  Germaine Greer

 Key: B
 

Itemcode : BO1065
Q58
:

The All India Women's Conference (AIWC) was established in the year _________.

(a)  1927
 (b)  1937
 (c)  1947
 (d)  1917
 Key: A

 

Itemcode : BO1066
Q59
:

The main legal landmark of The Sarda Act (1929) was _________.

(a)  Legalising Widow Remarriage
 (b)  Forbidding Child Marriage

 (c)  Ban on Sati
 (d)  Equal property rights to women

 Key: B
 

Itemcode : BO1067
Q60
:

The book "The Changing Position of Indian Women"(1978) published by the Oxford University Press was written by
_________.

(a)  Neera Desai
 (b)  M. N. Srinivas

 (c)  Maitreyee Krishnaraj
 (d)  Veena Das

 Key: B
 

Itemcode : BO1068
Q61
:

The words 'socialist' and 'secular' were introduced in the Preamble to the Constitution of India during the premiership
of:

(a)  Jawaharlal Nehru
 (b)  Indira Gandhi

 (c)  Rajiv Gandhi
 (d)  Lal Bahadur Shastri

 Key: B
 

Itemcode : BO1069
Q62
:

Equality before Law is a:

(a)  Directive Principle of State Policy
 (b)  Fundamental Duty

 (c)  Statutory Right
 (d)  Fundamental Right

 Key: D
 

Itemcode : BO1070
Q63
:

To protect and improve our natural environment is a:

(a)  Fundamental Right
 (b)  Fundamental Duty
 (c)  Directive Principle of State Policy

 (d)  Statutory Duty
 Key: B

 

Itemcode : BO1071
Q64
:

As a rule, the Legislature of a State consists of not less than:

(a)  500 members
 (b)  400 members
 (c)  300 members
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(d)  60 members
 Key: D

 

Itemcode : BO1072
Q65
:

The top law officer of the state is:

(a)  Lokayukta
 (b)  Chief Justice of the High Court

 (c)  District Judge
 (d)  Advocate General

 Key: D
 

Itemcode : BO1073
Q66
:

Information under the RTI Act may not be given in respect of:

(a)  Confidential note prepared by the Mamlatdar
 (b)  Secret note prepared by the BDO

 (c)  Confidential submissions made by Assistant Director under EC Act, 1955
 (d)  Information furnished by R&AW to the Government

 Key: D
 

Itemcode : BO1074
Q67
:

An application made to a Public Authority in respect of information held by another Public Authority has to be
transferred to such other Public Authority within:

(a)  5 days
 (b)  10 days
 (c)  15 days
 (d)  30 days
 Key: A

 

Itemcode : BO1075
Q68
:

The Lokayukta can simultaneously hold office if he is a:

(a)  Practicing Advocate
 (b)  Sitting HC Judge

 (c)  Deputy Speaker
 (d)  None of the above

 Key: D
 

Itemcode : BO1076
Q69
:

The Lokayukta cannot investigate a complaint if it is made after:

(a)  3 years
 (b)  5 years
 (c)  10 years
 (d)  15 years
 Key: B

 

Itemcode : BO1077
Q70
:

The only Master of a Civil Servant is:

(a)  The Minister in charge
 (b)  The Secretary in charge

 (c)  The Under-Secretary in charge
 (d)  The Law

 Key: D
 

Itemcode : BO1078
Q71
:

Stray cattle within a Panchayat area can be seized and taken to the cattle pound by:

(a)  BDO
 (b)  Mamlatdar

 (c)  Assistant Director of Civil Supplies
 (d)  None of the above

 Key: A
 

Itemcode : BO1079
Q72
:

A person whose cattle is seized and taken to the cattle pound can approach with his grievance to:

(a)  Deputy Collector
 (b)  Deputy Director of Panchayats

 (c)  Collector
 (d)  Director of Panchayats

 Key: B
 

Itemcode : BO1080
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Q73
:

The quorum for a meeting of the Panchayat is:

(a)  3/4th of total number of members
 (b)  2/3rd of total number of members
 (c)  1/3rd of total number of members
 (d)  1/2 of total number of members

 Key: C
 

Itemcode : BO1081
Q74
:

The power to convene the meeting of the Panchayat is with:

(a)  Secretary
 (b)  Sarpanch
 (c)  BDO

 (d)  Deputy Director of Panchayats
 Key: B

 

Itemcode : BO1082
Q75
:

An appeal against the refusal to grant permission for erection of a building lies to:

(a)  BDO
 (b)  Assistant Director of Panchayats

 (c)  Deputy Collector
 (d)  Collector

 Key: B
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